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Attempt any five questions.

All questions carry equal marks.
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1. (a) What are the determinants of market demand ?
How do the changes in these determinants make
the movement along the demand curve and shift
in demand curve? L (8)

(b) iIf incomes of consumers rise and cost of
production of mobile phone falls, show the
" impact of these changes in market equilibrium
quantity and price of mobile phone, using suitable
diagram. - " (7
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(a) Explain consumer surplus. Explain the effect
on consumer surpius when price of a commodity
(i) increases and (ii) decreases. (")

(b) Describe the determinants of elasticity of demand.
An increase in price of commodity x from Rs. 40
to Rs. 50 causes the demand of commodity y- to
increase from 100 to 150. Using arc method,
calculate elasticity of demand of y with respect to
price of x. Comment on the nature of relation
between x and y. . 8)
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3. {(a) What is the relationship between marginal utility
and total utility ? To maximise utility a consumer
allocates expenditure among goods so that equal

* utility is derived from the last unit of money spent
on each good. Elaborate. N

(b) Uéing indifference curves, explain the income
effect and substitution effect of a decrease in price
of an inferior good. | ‘ (6)
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4. (a) What do you understand by least-cost method of
producing a given amount of output? %)

(b) Given the production function Q = 15./K+1 and
the value of K fixed at 100, caiculate total product
and average product for the following values of
Labour input ‘
()L =9 and (i) L = 25, O ®)
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(i) L =9 3R (ii) L = 25

5. (a) What are the characteristics of perfect
‘competition ? How does a firm ‘under perfect
competition achieve equilibrium in the short
run ? (8)

(b) Compare equilibrium output and price attained
under perfect competition and monopoly. {7)
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6. (a) Define monopolistic competition. Explain
equilibrium condition of a firm under monopolistic
competition in the long run. (9

(b) What is oligopoly ? How does game theory explain
the behaviour 6f a firm under oligopoly ? (6)
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7. (a) Discuss the conditions under which market system
fails to allocate resources efficiently. 9)

(b) Using indifference curves, show that the supply

curve of labour bends backward beyond a

particular wage rate. ] {6)

(&) o afifRafadl =1 av il e T =T s
%@mmmﬁ'ﬁm,am%y

(ﬁ)aﬁﬁlﬂmwaﬁm'&mﬁq&mwwﬁw
o fiffe #ogl w @ ' 08 ) ww @ w2

8.  Write short notes on any two:
(a) Principal-agent theory _
(b) Absolute advantages and comparative advantages

" (c) Arguments for protection of industries from free
trade iri developing countries (7%, 7%)
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